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-wwSECTION ’—A i

Al questlons are compulsory and carry equal marks. Coe

Answer TRUE or FALSE o (Marks 1 X6 =6)

1. The probability distribution is a theoretlcal model that assigns probabilities to the values
of random variable. :

2. - Covariance between Xand Yis a numencal measure of the joint variation of thetwo
random variables.

3. The particular normal distribution that has a mean 0 and a standard dewatlon of1is
called the standard normal distribution. '

4. Normal distribution is a continuous probability distribution.

5._" The total area under the probability density curve is 1. :

6. Decreasing o increases the helght and concentration of probabtllty around pin a normai
distribution.

SECTION : B A | .

~ Answer any THREE. ' ' - (Marks:3x4 = 12}

Identlfy which probability distribution is appllcable in the followmg cases and why"-’

e ‘--probabtlity of hlS htttmg the target at' Ieast twice:

2. Inaresearch project we conduct a series of experlments ina deflned sequence. The next
~eXxperiment in seriés can be performed only if the prev:ous one is a success. The
experiments are independent. The probability of success is 92% or 092 Find the

" probability that the project is abandoned after sixth experiment. .
3. A player is playmg ona slot machme It costs Rs 100 to play once. Probab[hty of !osmg is

player plays exactly 12 times.
'4_. A police department receives an average of 5 calls per hour. Find the probablltty of
receiving 2 calls in a randomly selected hour, :

SECTION : C - o S
AncweFany ONE. " | e

1.__What aré the stages.in an econometrlc research?. Elabb'ra'teZ.With...the'.fexa‘m pleof .

consumptlon functlon




2. ‘Suppose we have the data on the heights of students in Doon'Universit'y with mean (p)
of 1.65 m and standard deviation {0) ofO 20 m. Find the probability that the height of all -
the- students is<1.75m.

Area betweeén ((00<z< .1_0) =.0398.

Aréa between (0022 £.20) =.0793
Area between (.00<2<.30)=.1179 "
Area between (.00<z<.40)=.1554- . .
. Areabetween {.00<z<.50)=.1915 =~
s Area between (00 €7 $.60) = 2257 B
** Area between (.00< z £.70) =.2580 :
'Area between (00<7<.80)=.2881 T
Area between (.00 £ z<.90) =.3159




